COMPUTER SCIENCE Paper:Il (/o U ILisg JFULE) 221 - (IT)

Time: 15 Minutes
Marks: 10

(Group:I) Objective

Code: 7833

! /b,g’f / J

H 24 g ’lw').r;[
> (g hg) e 15 1
&HUT-G /)2 10 ;0L

A
s

Luii../uc,Ju;/bz‘:.)d.l/did‘r//‘é(d‘i _u‘cZL.)DuiC B« A...«U:’jzla&dlr'/ g
,g’/wwqy sl g -.u.uﬂd/d.,// u(u_.//;(u:/b uLJc_J ’Z’.‘:/c‘_u'l,/t :’/o/b.ulw‘dl&/

1. 1-  The CIRCLE statement can aiso be used to draw a/an  -(f = @‘{ Va2 J./’-‘-’ CIRCLE

PSET PSET (D) elipse F (C)  box U (B) line AU (A)

2 - Which of the following BASIC statement is used to - Jn Ju Jf’ ¥ P um S L
. define a func_:tion?

DEF NF (D) DEF FUN (C) DEF (A)

3 - The out put of the function RIGHT$("PAKISTAN"3) is -« 237 u( RIGHTS$("PAKISTAN",3)

| 3 (D) PAKISTAN (C) TAN (B) PAK (A)

4 - How many types of array in BASIC are? - r&}l - Jg;l o

4 (D) 3 (©) 2 (B) 1 (A)

5 Every element of array has its own - b u’;i/”'l Kw 2L /!

structure A./ > (D) limit » (C) extension u""’< I (B) index Jgfcl (A)

6 -. How many types of controi structure‘are there? -t rul ¢ ﬁ./ /J:}-’f

4 (D) 3 (©C) 2 (B) 1 (A)

7. Aloop within a loop is called it S i Ly

Nested loop J 4 (B) FORLOOP ./ FOR (A)

Simple loop /- (D) Complex loop «/s4% (C)

8- The extension of BASIC program is 3 3w S50 rl/;}\_ﬁ;

bs (D) doc (C) txt (B) ' bas (A)

9 -: Which shortgut key is used to RUN a program in Basic? A Julettd il v (!/§4 U

F4 (D) F3 (C) 2 (B) F1 (A)

10 -. Which of the following errors can not be detected o0E 7 1S /cgf 2 e e S

by the compiler?
logical error J,/!J?) (B)
machine error J_,/ld.‘-‘” (D)
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syntax error s/ peSdisw (A)

run time error /{I(I’L‘ui (C)
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COMPUTER SCIENCE Paper:II

Time: 1:45 Hours (Group:I)
Marks: 40
Note: Section I i compulsory. Attempt any TWO (2)

questions from Section II.
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2 - Write short answers to any FOUR (4) questions.

i-

11 -
iii -
iv -
s

Vi -

Write down the use of these éymbols:

How is desk checking performed?

What is the use of selection structure in GW-BASIC?

What is the use of IF.....THEN--...ELSE-§tatement?

What is the use of loop control variable?

3 - Write short answers to any FOUR (4) questions.

v -
V-

vi -

Write down steps to ldad a program in GW-BASIC.
What is the use of REM statement in GW-BASIC?
In how many modes GW-BASIC can operate?
Write down its names.

Define array.

What is an index?

Differentiate between $imple and subscripted variable.

4 - Write short answers to any FOUR (4) questions.

i=
i -
1l -

iv -

Vi -

Why is it a good idea to use sub-program?
Define numeric functions.

Write down the syntax of user-defined function.
Differentiate between ABS and RND function.
What is the use of text mode in BASIC?

Write down the purpose and syntax of LINE statement.
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- 1f Shiw ¥ WHILE-WEND - iv
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(2x4=8) & il Ly (4) e S -3

S b L LSy 2 GWBASIC - i
feo Ji1 ¢ o2 REM U GW-BASIC - ii
Pl e 5 e Tt sty & GWeBASIC - i

s
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Define problem solving.Write down names of steps

to solve a problem and explain any two of them.

Define variables. Describe two basic types of variables

with examples.

Write use of CIRCLE statement. Explain it with the help

of example..
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1. 1- Avariable name must be started with a Lebtnlsfe EESHss 1.1

underscore & k1 (B) alphabet &l (A)
alphabet or underscore J)ﬁlﬁ‘&%w (D) digit & (C)

2- Division by zero is . (:;7 M <2
logical error /1 J?.U (B) syntax error ./t wSudisw (A)
not an error u.‘.""/,/! J/ D) runtime error /! ,f’ tyi (C)

3- Which of the following is not a control structure? e u.‘.f A./ Y J;/J e S -3
loop ¢ (D) choice &1 (C selection 3tz (B) sequence <’ (A)

4 - A function which is defined by d user is called -t gf <l &S Jl&ﬁu}f ' fau’ -4
string function u’a 7~ (B) ' numeric function fﬁ_&‘! (A)
built-in function et (D) user defined function u“gﬂw//‘g ()

5- "RND" function is a L % RND" -5
built-in fungtion ufﬁ uwl (B) user defined function ui@i:fta;‘/)g (A)
4l function %8 (D) string function *5_£> (C)

6- A loop withinia loop is célled ‘ et b L -6
“" Complex loop _;;’u&‘r (B) Nested loop 42+ (A)
inner loop 4 Uls.41 (D) Infinite loop 0.y ‘(©)

7 - If two or more; statements are written on a line, J J@ ot mabie 0 b 2 A L A 7
they must be |separated by a -k Sl A
hyphen | (D) comma L/ (C) semicolon « ¥ (B) colon ¥ (A)

8 - The statement x(30) will reserve memory locations. -¢ S E7 7 2 Gvt X(30) 2 .8
32 (D) 31 (C) 30 (B) 29 (A)

9-  On color monitors, SCREEN modes are of types. - (lﬁl - J J3# SCREEN £ J}:‘r; -9
5 (D) 4 (C) 3 (B) 2 (A)

10 - An element of an array is mentioned by its gL uC Ledfle Lyt 210

array <./ (B) : subscript ..q/..,..-/ A)
name of element (td:ug (D) object »LF (C)
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Note: Section I i§ compulsary. Attempt any TWO (2)
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2 - Write short answers to any FOUR (4) questions.
i- Why is it necessary to test a program?
ii- Give two causes of logical error.
iii - Define selection strudture.
iv- What is meant by loop?
v - Why control structures are used in BASIC?

vi- Define WHILE-WEND loop.

3 - Write short answers to any FOUR (4) questions.
i- Describe two features of IDE.
ii- Define the term "Loagling a Program"”.
iii - Define constant.
iv- How subscript variab{e can be written?
v- What is meant by filling of an array?

vi- Define 1-D array.
4 - Write short answers to any FOUR (4) questions.

i- Wirite down the purpase of VAL function.

ii- Define data file.

iii- Write down the purpase and format of RND function.

iv- Define numeric functions.
v - Describe the text mode.

vi- What do you know about SCREEN statement?
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5 - Define flow chart. Write down any of six guidelines
for drawing a flow chart.
6 - Define variable. Writeidown the rules for naming

variable in BASIC.

7 - Write down a note oniuse of CIRCLE statement

in GW-BASIC.
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